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SECTION-T

Q.1 Write short answers to any Fighteen (18) questions, 1832=36
L. Solve the quadratic equation xlx + 7) = (2x - 1) x + 4) by factorization.
& Solve the equation 5°—6x + §=0 by completing the square,
3. Discuss the nature of the roots of the equation 8° = x+ 1 =0,
4. For what value of K the roots of the equation Kx® < 4x + 3 = () are equal,
2} Find the sum and product of the roots of the equation O 4 6ix = 1 =0,
: ; [ 2) : :
&, Expand |3 - :' by Binominl theerem,
7 Calculate (1.04)° by Binominl Theorem up to two decimal places.
< 2 ; ; \LI:
5, Find the 8" term in the expansion of [2,\:‘ o l_ J
X X
2. Expand (] +2x 7 to three terms.
il s : S : 3
10, Which will be the middie wwem/terms in the expansion of (x4 v )&
@ 0 ay
11, Convert 42 36 12 into radians measure.
120 Find x, if tan” 45" — cos® 60" = x sin 45" cos 43" 10n 60°.
13, Prove thit tan® 30° + tan® 45° Han® 60° = "'.f'
14.  Show that Co’0 ~ Col’0 = Cosec™® - cosec’d
15:  Prove that Cos {(—[}) = Cosfi
16, Show that Sin (o )+ Sin (e— 1= 2 Sine Cos !
4 i £
17. I Sin@ =7 ond the terminnl side of 0 lies in 1"quadrant,find Cos =
18.  Express Cost - Cosd0  as product.
19, In right triangle ABC, y=90% a =35, ¢= 13 then find the value of angle «
20, The sides of @ triangle are 16,20 and 33 meters respectively. Find its preatest unale,
21 A minaret stands on the horizontal ground. A mon on the ground, 100 m from the minanct,
the angle of elevation of the top of the minaret to be 60°. Find its height.
22, Inany trangle ABCif a=16, b=17, 4 =25 Findc,
23 What are paralle] vectors?
24.  Giventhe vectors; a=3i-2j+k, b =2i-4j-3k, c=-i+2j+2,
Find a+h +c.
25, Find the area of parallelogram with adjucent sides, a=7i-j+kand b =2j - 3k
26, Write the phasor (vector) “=a + jb in Trigonometric and Exponential form.
- Er fl o L ¢} c{ b :ﬁ
27.  Giventhat  Z;=4Z60° and  Zp=22300  Iind 7
-
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| SECTION-IT |
Note: Attempt any three (03) questions. ; ' 3x8=24

Q.2 (a)  Solve the equation x? -~ 3 (x + -2-5) = 9x — 225 by using quadratic formula.

‘ ' _— o | _
(b)  Show that the roots of the equation x“—2(m+—)x+3=0 arereal
: ‘ : . 3 10
Q.3 (a)  Find the 5™ term in the expansion of [2}(2 - “"‘f'j
¥

(b)  Expand (4 + x)"?upto four terms.

Q4 (a)  Provethat {lim?-_l—l-l——?? =Sec — tan 6
. 1+Sin @ -

Lol S =SGCBCOSGCB+.1

(b). Prove that +
1-Coté 1-—tan®

Q.5 (@)  Prove that: Sin 20° Sin 40° Sin 60° Sin 80° = 13—5

(b) Inanytriangle ABCif a=2113, P=4816, y=71°38 Findb
Q6 (& If7=3i—j-4k b= -2i+4j-3k andc =i+2j—k.
Find unit vector parallel to 3a -2b+c.
(b) Find the cosine of the angle between the vectors:

a=2i-8j+3k , b=4j+3k
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